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Two and a half hours

INSTRUCTIONS TO CANDIDATES:

• This paper is arranged in two sections A and B.
• SECTION A is for all candidates to answer all questions in the spaces provided.
• SECTION B is made of 6 questions for candidates to answer any 4 of their choice.

All questions in this section carry equal marks.

You are reminded of the necessity for good English and orderly presentation in your answers.

In calculations, you are advised to show all the steps in your working, giving your answer at each stage
Calculators are allowed.
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i . Evaluate flowing fraction;+ (3;+ 7)- (4;of -)
*

. i f

A

2. A form 5 student went to the market and bought the following items:
> 9 cups of garri where 6 cups are sold for 500 FCFA
> 8 cups Cf groundnut at the cost of 200 FCFA per cup.
> 3 jliters of palm oil at the cost of 800 FCFA per liter.
> 5 packs of spaggetti at the cost of 250 FCFA per pack.

Calculate:
a) How much that she spent on garri.

b) The total amount of money that she spent in the market.

If she left the house with the sum of 10,500 FCFA
c) Calculate her balance after buying all the items.

leaving your a ia standini tonn-
3. Simplify the following
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2 mark*

2 nu/li
6, The floor of a sitting room measures 5.40m by 4.20m

a) Calculate the area of the sitting room.

2 marks

b) If tiles of dimension 60cm by 60cm arc to be placed on the entire floor, calculate the number of tilei that
will be used.

j
i
;

4 mail*

7 Soa>e students wrote an entrance examinaiion into a Technical High School and the scores were recorded on
the table below.

( O i l I - f 3 l 4 j 5 ) 6 ( 7|8|9|10| llMarls (JL)
II I 12 21 15 I 10 J 4 2 ( 24 ! 8 I Ifrequency (0

T

Cumulative frequency L

j) FdJ the row for the cumulative frequencies of these scores
b) CAICULISC the thud quirtde for these scores
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12. Simplify^ 12 3

i

4 marks
> rr

3 3
13. Solve in R, the equation - — -x = ->-2 '

4 marks

14.
D

7( 5cn(4cm

cmf •^ r kC

f a
In the figure above, Calculate the:

a) Value of the angle

ABB

M

.
SV.

'l
2 marks

V '<

b) Sides labelled and >4C.

?

5 marks

15. Two matrices A and B are defined as follows:

A = 3)“td & = 0 Calculate the:

a) Inverse A”1 of A.

I

1

f

4 marks
J

b) Value of m if /lfi = m(1g).

3 marks
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SECTION B

Three friends with Professions Electrician, Dress Maker and an Accountant decided to contribute mo
specdvely to start a business which yielded a profit of 1,680,000 FCFA.They shared 15% 0 f

J .
in the ratio 3:2:1re
the protii proportional to their savings.
Cnfculate the: 3 marks

3 marks
2 marks

a) Amount shared.
b) Amount that each of them receive.
c) Remainder of the profit.
The remainder of the profit was
yean.
Calculate the:
d) Amount of interest that will be yielded after 4 years.
e) Total amount of money that they will share after the 4 years.

saved in a Credit Union at an interest rate of 0.5% monthly for a duration of 4

3 marks
2 marks

TOTAL 15MARKS

2. i) The function f ( x ) = 2x3 - llx2 + ax -b leaves a remainder of 2 when divided by (x 1).
Given that (.x — 2) is a factor of f (x).Calculate the values of a and b.
ii) Given the functions f : x -* x - d, g: x -* ~4x-5 and h: x -* x+4. Calculate
a) g'{0 )
b) hg( x)
c) If h(x ) = f f x ),calculate the value of d.

7 marks

4 marks
2 marks
2 marks

TOTAL 15MARKS^71̂ .

3. The marks scored in a Mathematics test by Form Five students of a certain Technical College are as
Follows:10, 15, 9,5, 6, 9, 6, 5, 9, 5, 5, 5, 10, 5, 6, 6, 10, 5, 5, 9, 5, 6, 5, 9, 10.

a) Display these marks on a frequency table.
b) State the mode of these marks.
c) Find the median mark.
d) Calculate the mean mark.
e) Given that a pass mark is from 10 and above, calculate the percentage pass.
0 Display these marks on a pie chat.

2 marks
1 mark
2 marks
3 marks
2 marks
5 marks

TOTAL 15 MARKS

4. A piece of land has its coordinates as A(—5,1)» B(0,1),C(2,5) and D( —3,5).
a) Plot these points on an orthonormal reference system (0, T,J), where T,= j = 1cm.
b) Connect the points to form ABCD and name the figure.
c) Calculate M, the midpoint of A(—5,1) and £(—1,1).
d) Draw two lines DM and DE.
e) Calculate the distances DE,AD and AE.
f ) Justify that ADM is an isosceles triangle.

5 marks
2 mark
2 marks
1 mark
4 marks
1 mark

TOTAL 15 MARKS

5. i. a) Given the Polynomial function P,defined by P(x) = (2x- l )(3x-2)- (2-
a) Factorize Pfx).

Solve in R, the
b) Equation (2- 3x)(x-1) = 0.
c) In-equation (2- 3x)(x-1) > 0.

3 marks

3 marks
2 marks

©TRU/RPI-Sc/5440/MATHS/2/M0CK 2025 e/7

KAW
LO

 (g
ce

re
vis

ion
.co

m
)

for more past questions and solutions download kawlo kawlo app or visit http://www.gcerevision.com

for more past questions and solutions download kawlo kawlo app or visit http://www.gcerevision.com

https://v3.camscanner.com/user/download


C
am

Scanner

Is

lize thc sur^ "zW5

3 marks
1 mark
3 marks

TOTAL 15 MARKS
5#
,i Ralionau

—3x2-for the function fix) = 6x — 3, for values of x in the range
table of values

i a) Draw the-3 < Xb:

b) Plot the graph of fix) in the orthogonal reference system|i) = 2cm and n

C) State the maximum turning point of the curve of/fr).
a\J\= lcm.

d) From your graph, solve in R, the equation fix)-0.
e) On the same reference system,draw the line with equation y = 3*-3

f) State any one point of intersection of the curve of/(x) and the line y=

ii)A Fashion Designer puts 3 rolls of white thread and 6 rolls of black thread in a H " U

thread out of the bag at random. He picks out a second roll from the same ban witJm.ff 7**r°U of

thread that he picked out.Calculate the probability that he picks out- rePla«ng the first roll of

a) A white roll and then a black roll.

b) Both rolls are of the same colour.

< 15. 2 marks
3 marks
1 mark
1 mark
2 marks
1 mark

.*

3x-3.

2 marks
3 marks

TOTAL 15 MARKS
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